g % , %O YMHOXKbTE JECATUYHBIE IPOOH HA OTPULIATENEHBIE
: (4 CTETICHH JICCSTH.

WUms: Jata: ___ Ouenka:___
1369, 6 x 0.01 = 2565,7 % 0.001 =
9221,3 x 0.1 = 8473,7 x 0.001 =
3188,3 x 0.0001 = 6004,8 x 0.1 =
2563, 1 x0.0001 = 4528,9 x 0.1 =
6625,9 % 0.01 = 9279,3 x 0.1 =
3750,3 x 0.01 = 3077,8 x 0.0001 =
1784 x 0.01 = 4603 x 0.0001 =
1820,2 x 0.1 = 9719 x 0.001 =
6900, 9 x 0.001 = 1692,7 x 0.001 =
4910,5 % 0.01 = 3564,3 x 0.0001 =
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CTETICHHU JICCSTH.

Pws: Jata: ____ Ouemka:
1369,6 x 0.01 = 13.696 2565,7 % 0.001 = 2.5657
9221,3x0.1 =922.13 8473,7 % 0.001 = 84737
3188,3 x0.0001 =0.31883 6004, 8 x 0.1 = 600.48
2563, 1 x0.0001 = 0.25631 4528,9 x 0.1 =452.89
6625,9 % 0.01 = 66.259 9279,3 x 0.1 =927.93
3750,3 x0.01 = 37.503 3077, 8 x 0.0001 = 0.30778
1784 < 0.01 = 17.84 4603 x 0.0001 = 0.4603
1820,2 x 0.1 = 182.02 9719 x 0.001 =9.719
6900, 9 x 0.001 = 6.9009 1692,7 % 0.001 = 1.6927
4910, 5 x 0.01 =49.105 3564,3 x 0.0001 = 0.35643
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